


In a class among the passed
students A go nd rank from top
———————

and B who is 5 rank below A, got
34ttt rank from bottom. If the ratio
b/w pass and fail is 3:1 then find
the total number of students in
that class?

TS HEr | Sl fQenfay # A a1 o
9§ 2241 V& W< §s AT B, ST A ¥
5df ¥& 1 B, & -ra | 3449l & ur<
gs | afs Sl 3iR Sl &t erura
3:1 8 Ol S9 $&T H B @ G 4T

ST DIfoTg?

8

(c) 75
(d) 100



A, B, C, D, and E are five Boys
sitting in a line facing to south,
while M,N,O,P and Q are five Girls
sitting in a second line parallel to
the first line and are facing North,
They are facing to each other.

1) B who is just next to the left of
D, is opposite to Q.

2) C and N are extreme point
diagonal opposite to each
other.

3) E is opposite to O who is just
next right of M.

4) P who is just to the left of Q, is
opposite to D.
5) M is at one end of line.

Who is sitting third to the right of
0?



®

(a) Q
AN

(c) M

A, B, C, D 3R E Ul9 s® & il &feyor
DI AR 9 oD (P Ufth ¥ 93 & Siald
M, N, O, P 3R Q ufag =refedr & Wt
Ugall URth @ HAMIGR guel Ufth ¥ 931
EIAN TR B ARG D a1 & 9
TP TR B G T

1)B, I DS 3H FAf AR S, QB
faoda 21

2) C3R N & TN P fAda ==xH g
@ w |

3) E,0® f[qd 8 St M & Jd <Y

T H B
H) P QI AP AL AIRE DD
fada 21

5) M Ufth & Y& BR WX &

(d) None ¢ 3 o} & R I W 39 o7 82



If second and fourth Saturdays and
all the Sundays are taken as only

&k& holidays for an office, what would
be the minimum number of
Q g —Q— H —_ Q’l possible working days of any
s month of any year?
afy fodt erfay & fav R 3R
i wfEar ik aft faari &l
dad Bfeal & wu § fon mar €,
dl fedt i ad @ feedt i =@ «
aaifaa &t feaal &) <gan @&
a1 gifi?
(a) 23 (b) 21

22 @ (d) 20



In a group of 6 women, there are 4
ennis players, 4 postgraduates in

fc. m qwagiology, 1 postgraduates in
q I C ommerce and 3 bank employees.
\Mimala and kamla are the bank
emplayees, while Amala and komal

th b are unemployed. Komal and

Nirmalal are among the tennis

: I players. Amala, Kamla, Komal, and
NNMJH‘- Nirmalal are post graduates in

'T"a'WW.\ sociology of when two are bank

Sklpq - 4 6, employees. If shyamala is a

postgraduates in commerce, who

m M among the following is both a

tennis player and a bank
employee?



R ¥ | Braa 3 Prfaa ofr
Raenfeat & & &) 3/, e,

g, a f=ifafaa 4 4 @19 2=
Racamrdl 3R 4@ HHa 341 272
(a) Amala L{byNirmalal

(c) Komal (d) Shyamala



Statement:

Morning walk is good for health.

Conclusions:
X 1. All healthy people go for
morning walk

X 2. Morning walk is Essential for
.hmaintaining good health.

HA:
98 @ 9Y Wy & fou 3=l

® &

(a) Only 1 conclusion ;mﬂmg ey Al \jde P WY W

(b) Only 2 conclusion

(c) Both conclusion 2. T8 ey Bl 1Y G B ferg
\_{d}-None Jdg & AR TN 2 |



Six boys A, B, C, D, E and F play a
game of cards. Each has a pack of
10 cards. F borrows 2 cards from A
and gives away S to C who in turn
gives 3 to B while B gives 6 to D
who passes on 1 to E. Then the
number of cards passed by D and E
is equal to the number of cards
passed by?

B8 ds® A, B, C, D, E3IR F @19l
& Dol Wod 2 | Udd d U919 10
®Tel &1 U ddbC 2| F,A ¥ 2 BIs
SHR odl & 3X 5 C $I <dl ©, ol
9l § B @I 3 <dl &, Widi® B, D
@l 6 Qdl 8, Wil 1 E &I <dl = |
D a‘h E g1 U9 fdy 17 orsf
']TH Fa?q Mg Hrsl

di
C|
C|

;;E]AB andC{ ,Cand F

(c) A,B and F (d) A,C and F



Examine the following
statements:

1. All colours are pleasant
2. Some colours are pleasant
3. No colour is pleasant

4. Some colour are not pleasant

Given that stateemnts 4 is true,
what can be definitely concluded?

frr=ferRaa s @) Gfa a9

X 1. 9t 37 gE< ©
2. 9 VT YA+ dld @
3. I HY 7 Y@ T8 2

4. BB VT YEq T8 8, I8 qwd
g0 T du 4 9 =, fil¥=a wu 4
11 s FrdbTerr ST adbar =27

(a) 1 and 2 are true

(b) 2 is false
(c) 3 is true
L¢3 1 is false
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6 afkpdl A, B, C, D, E 3IX F &I

URA |

1. YOI &1 G&I1 qfgdrel & g

® SN ©

2 AJRE,FD YT EI

3. D €l 9=dl &I 4T 2,

(Th ASHI 3R Tdh cIsdl)

4. B,A &1 79 &

gqﬁaﬂﬁm‘qd us faarfaa wirst
|

SWith # | f=fafRaa § 9 @i+

a1 frsed Aarar w1 gadr 287

De— AT &

|
C- RF

Family of 6 persons A, B, C, D, E
and F.

1. The number of males equals that
of females

2. A and E are sons of F.

3. D is the mother of two,

(one boy and one girl)

4. Bis the sonof A

5. There is only one married
couple in the family.

Which one of the following
inferences can be drawn from the
above?

)Qa] A,B and C are all females
(AD) A is the husband of D

(c) E and F are children of D.
(d) D is the hter of F.



A C‘.B.] l)_I G FeH
¢ __GFeY B9 ¥

(a) C is to the immediate left of A
(b) D is immediate neighbor of B
and F

‘_JD]"G is to the immediate right of D
(d) A and E are at the extreme
ends.

Consider the following

A, B, C, D, E, F,G and H are
standing in a row facing north.

1. B is not neigbour of G.

2. F is to the immediate right of G
and neighbor of E.

3. G is not at the extreme end.

4. A is sixth to the left of E.

5. H is sixth to the right of C.
Which one of the following is
correct in respect of the above?



In a school, there are five teachers
A,B,C,D and E.

A and g_teach Hindi and English
C and B, teach English and

Geography.
D and A teach Mathematics and

Hindi. E and B.teach Histary and
French. Who teaches maximum
number of subjects?

s hd ¥, 9id RiEs A, B, C, D
INE B

A 31X B &) ailv sigof uerd @
C 3% B AT 3 e ueTd 2 |
D 3MX A T 3R f&d ueTd €1 E
3k B sfus 3R B9 e 2|
Afrpay &g A4 fAwy &9 gerdan

s w4

(c) C (d) E



(11,28,143) is similar to:
A

(11,28,143) 39® HHM -
(a) (7,15,78) \p
(b) (9,22,131) ‘¥

) (13,34,173)

(d) (8,19,89)

©



Complete the series?

17,20,36,71,135,236,380,?
|7 Q0 36 7) 13€ 23 380 q@ﬁn T\ﬁ aﬁ?
\'W_A—M_

3 ( 35 6Y lol 1Y - 20 36 71,135,236,380,

(c)557 (d) 575

e @

7 23 3) A "
P Prums W &R



If JANUARY is coded as 71,
W\\ﬂ‘ MARCH is coded as 53, MAY as 35
then JULY will be coded as?

No‘q 0
W / . gfe JANUARY &l 71, MARCH &l

’S-H NUM Y—-—» :F | 53, MAY @I 35, @ JULY &l ®cdg

— ~— o SITgArT?
(a) 40 (b) 46

MAR(H —53 O™ M

A — 3
July— v+




Which expression is definitely
true? For ‘'L > G’

&9 WY sfvraafn ¥ v 9 9@
e? L>@ @ fou

X(a) L>I>2P<G<A

h,ﬁﬂGSP—I<L5A

V() ASG<I>L=P

(d) Both B and C



Statement:

Should speed breakers be banned?
Argument:

1. Yes, data shows that number of
accidents increase after putting
the speed breakers.

2. No, It teaches fast drivers a
lesson.

HA:
T ¥ sHY IR gfadsr mar SrEn

aTfee?
a—cb( 1

1_éf,éaﬁumm%i:&3?tﬁs
4B A b dIc gHCARN DI

AT ¢ WITdY 2 |
Hm 2. ST8l, I8 A9 TSI dd drell ®l

g9d faErar 2 |

=’ (@) Only 1 (b) Both
(c) Only 2 \{d}-None



Five students K, L, M, N and O
were sitting on a bench in such a
way that M was between L and O.
N was at the left of K. There was
vacant place at the left of O. who
was second to the right of M?

qid B9 K, L, M, N3iI¥ O U 34
WY UdR 48 o f& M, L3k O
$ 49 ® ATIN, K $ Y 3niv a1}
O SR IRNRBF WA M @
SR ¥ UL I WR B UT1?

(@) 0 oy @
(L (d) K



P@inting to a lady in a photograph
Arun said, “Her sister’s mother is
the sister of my father’s
daughter”?

How is the lady related to Arun?

Udh d@R H Us Afedr & faf3a
BYd BU IAVUT A Pal, "SHD 98
& °4F W far aF 4 3 989 27
gﬁﬂﬁmwﬁﬁmwﬁéﬁﬁ
S

(a) Mother

(b) Daughter

\__lefSister’s daughter
(d) Sister ©




) 89m
(b) 86m
(c) 109m
(d) 95m

A = B means A is 13m north of B.

A + B menas A is 24m west of B.

A # B menas A is 55m east of B.

A * B means B is 76m south of A.
In the expression E# D#C, E * G,
H+G,A#B=C,

If F is 31m west of H, then what is
the shortest distance between A
and F?

A=B &1 32f 2 5 A, B & 13 Hfiex

SR H B

A+B®l 3 & A, BD 24 #Hicx

uf¥aq & 2|

g#%Bﬁlﬂt’if%'A,Bi}l 55 Hlex gd
I

A*B&T 32 2 f& B,AT 76 Hex

<féror ¥ 2

aﬁwﬁﬁﬁE#D#c E* G,

H+G,A#B=C,

zrﬁ.'F H$311ﬁﬂqﬁ?{qﬁﬁ i

Aaﬁ‘\'Fa%d’lﬂremm & T 2?



Statements:

Some circles are not triangle only
a few square are triangle no
rhombus is squares.

Conclusions:

1. All rhombus being triangle is a
possibility.

2. Some squares can never be
circles

HA:
&9 g (399 T8l g, dd ©B a1

ﬁ'ﬁﬁ%‘ S wHagHS aif T8 2

1. wﬁ aragis @ o ge @
HHEAT 2 |
. §B a0 & g L & uDhd
a) Only 1 follows
(b) Both
(c) Only 2 follows
(d) Neither




There are 8 persons living in a
building where the lowermost floor
is numbered 1 and the floor just
above the lowermost floor is
numbered 2 and soon. The person
who are living in a building on
different floors are Abhishek,
Kiran, Raju, Dinesh, Riya, Uma,
Hema, and Bindu. Only one person
lives between the floors of Raju
and Dinesh who lives on any floor
below the floor of Riya. Bindu lives
on the floor immediately above the

floor on which Kiran lives. Raju
lives on the third numbered floor.

Only one person lives between the
floors of Riya and Uma. Riya lives
above Uma. Only two persons live
between the floors of Raju and
Hema. Who lives on 5t floor?



ST
mmemmmmmemmﬁmwawm
mmmWﬁWﬂwmmﬁmmmmmww
@ ZE . n..ﬁ_nm o .
cpeeEoptEgiEEst oo
I A S |
eBsEfrieroaichaEsa\s

Bindu



Seven boys M, K, C,P, S, Tand U

participate in a contest. All of

l —2 K them finish on different ranks
from 1 to 7, 1 being the highest

2.._.’ U and 7 being the lowest. The rank of
S is lower than K, but higher than

KK C. The rank of T is one below U and

3 -—)T- one above P, U has the second
S highest rank. The rank of S is less

than only four boys. C has the least

\1 — P . rank. Whe€ rank is the third from
U the last?

9rd s M, K,C,P,S, T 3R U

S"_PS T v uferaifirar o wrr add 21 3 g+

é,_, 19 7 T® ATl IB U FHI

m F gld 2, 1 9=ga¥ 2 3R 7 9«4

| ot e 81 Ye U 3
— : cad & | T ® U

C%@f'mﬁ“@_‘ﬁww @ M R P} @ SR L, U A

(a) P A S ¥d ol Hdl 21S D IP

LGRS
(c) K (d) T Ddl AR dS®l 4 dH 2| C B VD



Statements:

HYH:
P2D>L=M>N<V<R<U>0>K
Conclusions:
s

o L.P>N

X 2.K<M
nly 1 (b) Both

(c) Only 2 (d) Neither



If all the consonants in word
“ESSENTIAL” are changed to
previous letters and all the vowels

are changed to the next letters as
per the English alphabetical series,

then how many vowels are there
after the rearrangement?

gfe 3vrsg “ESSENTIAL” ¥ gH
ol & fUsd el 9 q5a fean
WTC 3R Y @RI &1 AU guiHTe
FEl S JTAR 3T &Rl § 9
fear <y, at yacdaenn & 9rg fhad
W B

cle None 7“/‘9 (b) One

(c) Two (d) Three



Statement:

The government is planning to
create a total of 75 lakh self help
groups by 2022 to enable more
women to get a livelihood.
Inferences:

1. Govt. is taking such steps for
the upliftment of women in the
country

2. Contribution of women in

India’s GDP is higher than men
DU

WeR 3 Afgarsn o smofifaer
T d31 H 9GH 9911 b feIv 2022
b Gl 75 MG WA HerIdl 8

919 @ AISHET 947 Y@ 2 |

;1, 'ﬂ'\’w 29 H "zl & I

& forv 09 ®ew o1 @
. HRd @ oSt § #fgasn &1
T YN B o 3 3Mfera 2 |

4] Only 1 (b) Both
(c) Only 2 (d) Neither
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frsK (b) 15
(c) 98 (d) 27
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If pen < pencil, pencil < book and
Book > Cap, then which of the
following is always true?

I} 9 < Ui, e < fbare iR
a?ﬁ}ah,ﬁnﬁmﬁﬂ@aﬁﬁaﬁﬁ

@“LM4B°°K7 e W 7 2
s,
(a) Pen > Ca
M (b) Pencil = gap Cﬁ/}(___

(d) Pencil > Cap



